KI-3 MRKKERERR

SHAEE _
|57 & 3th 2 A3 it SR BUAT K
EREE SH4E SHI5E HAE
BH HFHEAR 45 58 65 7H 8H 98 108 118 12H 18 28 38
*/KHH 4/25 5/16 6/13 7/14 8/22 9/12 10/17 11/21 12/15 1/16 2/6 3/6
EYSEE 10:08 11:15 11:35 11:04 13:45 11:30 11:00 11:32 11:51 11:10 11:51 11:31
SR (°c) 28.0 24.0 27.8 31.9 33.0 32.2 29.3 28.0 20.5 20.5 19.3 21.7
KR (°c) 27.0 26.0 28.0 315 32.5 30.0 29.0 27.0 23.5 215 18.6 21.4
T K £z - - - - - - - - - - - -
BRE (cm) - - - - - - - - - - - -
KE -5 £ - - - - - - - - - - — -
BEX - - - - - - - - - — — —
KEATVERE 7 74 78 75 77 7.7 77 76 7.9 7.9 7.7 75 |5.8~86
EMFEHEBRFREKRE (BOD) (mg/I) <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 |=60
LB REKRE (COD) (mg/I) 3.7 4.6 43 5.5 6.4 5.6 5.8 5.0 55 5.3 5.4 52 |=90
FHEMEE(SS) (mg/I) 1 <1 < 4 <1 <A 2 <A 2 1 <1 2 <60
n-AIHUMEYE = - fhHEE (mg/I) - - - - <1 — - - - - - - <5
A BB ME R - DEYEERE] (me/l) - - - - <1 - - - - -~ - -~ <30
Jx/— )L (mg/1) - - - - < 0.05 — - - - — - — =5
FiG] (mg/I) - - - — < 0.005 — — — - - - - <3
& £ (mg/1) — — — — < 0.005 — — - — — — — =5
B AETEEK (mg/1) - — — — < 0.05 - — — — - — - <10
RERENUN Y (mg/1) - - - - < 0.05 - — — — - - - <10
ZI=PN (mg/1) - - — - 0.027 - — — - - — - <2
NI (mg/I) - - - - <1 — - - — - - - <3000
EES (mg/1) 10.3 5.02 12.8 12.9 11.1 11.2 8.04 10.8 11.3 12.5 10.0 106 |=120
E _ (mg/D = - - - 0.015 - - - - - - - _|=16
FAX X 5E (pgTEQ/I) - - - - - - - - - — - — =10
ARSI L (mg/1) - - - — < 0.001 - — — - - — - =<0.1
=TV (mg/1) - - - - < 0.1 - - — - — - - =1
i) IEED (mg/I) - - - - <0.1 - — - - - — - =1
fie) (mg/I) - - - — < 0.005 — — — — - - - =<0.1
FfiZ 0L (mg/1) - - - — < 0.005 — — — — - - - <05
ExX (mg/1) - - - - <0.005 — — - — — — — =<0.1
#aKER (mg/I) - - - — < 0.0005 — — — — - - - =<0.005
BE 7N IKER (mg/1) - - - — < 0.0005 — — - - - - - Eda ke (A e
7k [PCB (mg/1) - - - — < 0.0005 — - — — - - - <0.003
& [MHooIFLy (mg/1) - - - - < 0.002 — - - - - - - <03
# |7F59001FLY (mg/1) - - - — < 0.0005 — - — — - - - <0.1
= DY) (mg/I) - - - - < 0.002 — - - — - - - <0.2
B |miEkxsE (mg/1) - - - - < 0.0002 - - - - - - - <0.02
1,2-)0014y (mg/I) - - - - < 0.0004 — - - — - - - <0.04
1,1-9A01FLY (mg/1) - - - - < 0.002 - - - - - - - =0.2
YA-1,2-"H001FLY (mg/I) - - - - < 0.004 — - - — - - - <04
1,1,1-p)y0014Y (mg/I) - - - - < 0.0005 - — — - - - - =3
1,1,2-p)y0014Y (mg/I) - - - - < 0.0006 - — — - - - - <0.06
1,3-24007°0A™Y (mg/1) - - - - < 0.0002 - - - - - - - =0.02
FI74 (mg/1) - - - - < 0.0006 - - - - - - - =0.06
YIV'Y (mg/I) - - - - < 0.0003 - — — - - - - <0.03
FEAVHNT (mg/I) - - - - <0.002 - - - - - - - =0.2
Aty (mg/I) - - - - < 0.001 — - - — - - - =<0.1
Ly (mg/I) - - - - < 0.002 - — — - - - - =<0.1
S (mg/1) - - - - <0.15 - — — - - - - =8
ESPES (mg/1) - - - - 0.84 - - - - - - - <10
TUESTTOESOMEEME]  (me/D) - - - - 7.62 - - - - - - - =100
14—V 154y (mg/1) - - - - < 0.005 - - - - - - - |=005




